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QUESTION 1

Data Guard is enabled for your Autonomous Database and the Lifecycle State field for the primary database indicates
that it is stopped. 

Which statement is true? 

A. The standby database is terminated. 

B. The standby database is also stopped. 

C. Switchover is automatically initiated. 

D. Failover is automatically initiated. 

Correct Answer: B 

 

 

QUESTION 2

A BusinessAnalyst joined in your organization and wanted to explore the database tools. Which statement provides
access to data tools page for business analyst. 

When restoring/cloning the ADB, you must select a backup which is atleast___hours/minutes old. 

A. 24hrs 

B. 2 hrs 
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C. 5 min 

D. 1 day 

Correct Answer: A 

 

 

QUESTION 3

Which statement is true about connecting an OCI compute instance to a Shared Autonomous Database? 

A. The Autonomous Database must be in the same VCN and Subnet as the Compute instance. 

B. The OCI compute instance does not support connecting to a Shared Autonomous Database. 

C. The Autonomous Database must belong to a Network Security Group (NSG). 

D. The OCI compute instance can be used with an Always-Free Autonomous Database account. 

E. A Private Endpoint is required to connect to the Shared-Autonomous Database. 

Correct Answer: D 

 

QUESTION 4

A Corporation is building a web application to allow its customers to schedule service requests online. There is also a
need to run operational reports at times during non-peak hours. The architecture team is debating whether such reports
should be run onthe OLTP database or in a separate data mart. The DBA Manager does not want to add anymore
admin responsibility to the team and is looking for a database option that\\'s low to zero maintenance, but meets their
strict performance requirements as well. 

Which Oracle Cloud Infrastructure database service is appropriate for this scenario? 

A. Since the application needs to be highly available, it should to be deployed on a Kubernetes Cluster. 

B. ADW since operational reporting is a higher priority in this scenario. 

C. It is best to build a separate data warehouse, and move the OLTP data on a nightly basis. 

D. ATP. Using \\'tpurgent\\' and \\'high\\' TNS services to separate connection types. 

Correct Answer: D 

Autonomous Transaction Processing provides all of theperformance of the market leading Oracle Database in an
environment that is tuned and optimized to meet the demands of a variety of applications, including: mission-critical
transaction processing, mixed transactions and analytics, loT, and JSON document store. 

As a service Autonomous Transaction Processing does not require database administration. With Autonomous
Transaction Processing you do not need to configure or manage any hardware, or install any software. Autonomous
Transaction Processing handles creating the database, backing up the database, patching and upgrading the database,
and growing or shrinking the database. 
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QUESTION 5

When enabling auto-scaling, which three options do not change? 

A. Number of OCPUs displayed in the console. 

B. Amount of storage 

C. I/O resources 

D. parallelism settings 

E. Level of concurrency 

Correct Answer: BDE 

Explanation: https://docs.oracle.com/en/cloud/paas/autonomous- database/adbsa/autonomous-
autoscale.html#GUID-27FAB1C1-B09F-4A7A-9FB9- 5CB8110F7141 
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